What happens when a list is longer than the set of list markers?

Do the markers repeat? Do they double-up? Or what?
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(KHMER LETTER KA )
(KHMER LETTER KHA)
(KHMER LETTER KHA)
(KHMER LETTER KHO)
(KHMER LETTER NGO)
(KHMER LETTER CA)
(KHMER LETTER CHA)
(KHMER LETTER CO)
(KHMER LETTER CHO)
(KHMER LETTER NYO)
(KHMER LETTER DA)
(KHMER LETTER TTHA)
(KHMER LETTER DO)
(KHMER LETTER TTHO)
(KHMER LETTER NNO)
(KHMER LETTER TA)
(KHMER LETTER THA)
(KHMER LETTER TO)
(KHMER LETTER THO)
(KHMER LETTER NO)
(KHMER LETTER BA)
(KHMER LETTER PHA)
(KHMER LETTER PO)
(KHMER LETTER PHO)
(KHMER LETTER MO)
(KHMER LETTER YO)
(KHMER LETTER RO)
(KHMER LETTER LA)
(KHMER LETTER VO)
(KHMER LETTER SA)
(KHMER LETTER HA)
(KHMER LETTER LA)
(KHMER LETTER QA)

fifi. 34 double up
fi8.35 double up
fifi. 36 double up
fils.

37 double up

\1780 &#6016;
\1781 &#6017;
\1782 &#6018;
\1783 &#6019;
\1784 &#6020;
\1785 &#6021;
\1786 &#6022;
\1787 &#6023;
\1788 &#6024;
\1789 &#6025;
\178A &#6026;
\178B &#6027;
\178C &#6028;
\178D &#6029;
\178E &#6030;
\178F &#6031;
\1790 &#6032;
\1791 &#6033;
\1792 &#6034;
\1793 &#6035;
\1794 &#6036;
\1795 &#6037,
\1796 &#6038;
\1797 &#6039;
\1798 &#6040;
\1799 &#6041;
\179A &#6042;
\179B &#6043;
\179C &#6044;
\179F &#6047;
\17A0 &#6048;
\17A1 &#6049;
\17A2 &#6050;
\1780\1780 &#6016,;&#6016;



